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The student is required to answer both questions. Both questions can be answered without using graphs and/or formulas; however they are appreciated by the lecturers. Each question receives a mark between 0 and 15. The sum of the two partial scores gives the final score. An exam is passed when the student obtains at least 18 points. The students are requested to write a “good hand”; otherwise the test will not be corrected.

1.a) Discuss which are the implications of the absence or presence of financial markets for funding educational choices of individuals.
1.b) Discuss which are the problems in creating financial markets to finance educational choices, and whether and how can the policy solve them.

1.c) Thinking of the model originally proposed by Galor and Zeira, which are the predictions that you find more plausible ? Which are the most implausible ?

2) One researcher is interested in the non-market returns to higher education (HE), in particular to assess whether HE reduces the crime rate or not . In order to evaluate these non-market returns to HE she used ordinary least squares (OLS) and state-level data for a federal country – e.g, the US - (the unit of observation is the state i) to estimate the following linear specification: 

CRIMERATEi = a0 + a1 HIGHER EDUCATIONi + a2 FEMALEi + a3 GDPi  +                  (1)

                            +   a4 UNEMPLOYMENTi  + ei

Where 

CRIMERATEi= crime rate % in state i, i.e. (number of crimes/population)*100;

HIGHER EDUCATIONi = % of college educate people residing in state i;

FEMALEi = % female population residing in state i;

GDPi= per capita GDP of state i in dollars;

UNEMPLOYMENTi=unemployment rate (%) of state i;

ei = error term for state i.

The researcher obtained the following results from OLS estimation:

	Variable
	Coefficient
	P-value

	Constant (a0)
	       +5
	   0.04

	HIGHER EDUCATION (a1)
	       -0.3
	   0.02

	FEMALE (a2)
	       -0.5
	   0.01

	GDP (a3)
	       +0.01
	   0.20

	UNEMPLOYMENT (a4)
	      -0.10
	   0.05

	R2
	                                               20%


The same researcher used an IV estimator and found the following results:

	Variable
	Coefficient
	P-value

	Constant (a0)
	       +4.5
	   0.03

	HIGHER EDUCATION (a1)
	       -0.5
	   0.01

	FEMALE (a2)
	       -0.6
	   0.02

	GDP (a3)
	      +0.02
	   0.18

	UNEMPLOYMENT (a4)
	      -0.11
	   0.06


Answer the following questions:

1) Which variables are significantly correlated with the crime rate at least at the 5% statistical level in the OLS estimation? What is the effect on the crime rate of rising the percentage of college educated population by 2 percent points (e.g. going from 2% to 4%) in the OLS model?        (2 points)

2) Comment the OLS results. How can all the estimated effects be explained (e.g, what are the reasons why the effect of GDP on the crime rate could be positive)?          (3  points)

3) In your opinion, which other variables should be included in the regression? Why? (3 points)

4) Why did the researcher use an IV strategy? Which problem does the IV estimator helps to solve? Explain briefly. (3 points)

5) The researcher used as an instrument the lagged (i.e. past) values of the student-teacher ratio (No. of students/No. of teachers) at university level. Which properties a “good” instrument should possess? In your opinion, is the instrument chosen by the researcher likely to be “good”? Why? Do you have any clue why the instrument could fail (not be “good”) in the current specification (1)? (4 points)

